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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions (any ten) :

1x10=10

O] 2PPTRY Beq ferdl (R Gttt weh) -
(a) What is social indifference curve?

AT fmee® @21 2
(b) Define property rights.

T{feq SfgPpraq e el |
() What is monopoly power?

oo FER & [ 2
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2 :
(2) ('3 )

(d) What is product differentiation?
5 & ‘ (I) Define cartels.
A [Reearead g]%-;za ¥ 7
R Teoi WREF gt f |
(e) Define saddle point. : -
o (m) What is exclusivity?
e %‘iﬂ HLEE] WAl |
g IRl e 6 w2
(/ What is payoff matrix? () Writ e .
n rite one erence between private
AfSwI e & 92 goods and public goods.
(g9 In what type of market we get TS 7T A Ha T TS <y N
asymmetric information? foram
;:12 {999 IS PO I CTRACE AR (o) State Bertrand’s model of oligopoly.
5 , IRGY THRCTOR TR G I I |
(h) Give an example of positive externality.
Gft e AfZFerR Trrzad fia | 2. Answer the following questions (any five) :
2x5=10
(i) What is first-degree price Y 2PPTgEd e ol (R e #fiwby) -
discrimination?
& (a) Define Pareto efficiency.
C q?
A2 A 7 f{een e e g@m CAIGHB” FreTeId i i |
) W_hat is the basic difference between (b) Write two features of public goods.
oligopoly and duopoly?
Jredl T59 o1 G o |
THARGEFOR IGA WF FRFR TR qHO
Ny 12 (c) How does concentration ratio determine
degree of monopoly power?
i int?
(k) What is shutdown point: TR SIS GO T X T
e g 2 @A e 33 2
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(4)

(S)

(d) What is ‘two-person zero-sum’ game? (b) Briefly explain the causes of market
w3 -’ < 52 s
G4 REeTeq FRPHR TLF PRI F41 |
(e What is meant by signaling in
a market? (c) Explain the concept of excess capacity
4 TS iﬁ"ﬁ & &M 2 under monopolistic competition.
ot IGEe T TeRE FIOR
() Distinguish between production "‘TE‘IH ey & 4
efficiency and exchange efficiency. el iRl
Seome vl W [T wEer qme A9 (d) When is price discrimination possible
ferar | and profitable? Explain.
strategies? AT A0
e e G @ (e) Explain the concept of Prisoner’s
(h) What is third-degree price Dilemma.
discrimination? RS AU RECE! R
: 91 ? A
we Y[ 79 Reenead () Distinguish between perceived and
' d proportionate demand with the help
3. Answer the following questions (any four) : of a diagram.
5x4=20
oo 2repEd Teq ferd (R Gt wiikib) g | WS wE wEeifes  viReE
: YIEITCHT << <41 |
(a) Explain how efficiency can be achieved
in exchange through Edgeworth box (g) Explain how the growth of monopoly
diagram. power can lead to market failure.
qEeged 9% OaT TR REEE vl @edace TS TR Sl (@ TN [Rwerer
*] A1, 700 0| B ¢, T A
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(6)

(h) Do you think monopolist always

earns supernormal profit?  Justify
your answer.

O T O i O i) s L R 1) | ol
& FCICH 7 (OF Teq I it o

4. Answer the following questions (any four :

10x4=40

weq ePTIEd Ged fort (R e wifsot)

(a) What is production-possibility frontier

(b)

22A/1119

(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

T Fgifael @4 (1. 131 «%.) 67 Teomm
e @R AT TR [Re9d @

T IR AR CREB'T TS e
T TELH! ol |

State and explain Coase’s theorem.
What are the limitations of Coase’s
theorem? 6+4=10

T5'J OG0l TS IF I T G2 QR

SrerTR & 2

How can monopoly power be controlled
and regulated? Explain. 10

GBI (99 *IFS @ FaEd e 2ififie
e N2 Frap 440 |

( Continued )

(@)

(e)

(9)

22A/1119

(7))

Explain how prices and output can
be determined under monopolistic
competition in the short run and

long run.
IR TS @ A TAT ZIFETS WAE
LTS (S et TR iR, T

10

Explain diagrammatically Cournot’s
model of duopoly equilibrium.

afaﬂ%ag@ﬁﬁfﬁﬁvaaﬂFHEEWEﬁh?mﬂnaﬁnl

10

Write two applications of game theo‘ry.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory?  2+6+2=10

e wgE Tl e i | o R -
QU (A (PO T TR AN, e
< | (4o G SRR a4 |

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
kets where information asymmetry
I;-e:/ails. 2+6+2=10
s ol R 2 P EURECESEERR
i e A LRGN

qee T |

AL ]
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(8)

(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10
GO TWRS @ @A 9 ol A,
T 9 AT ITRE wq Resheae
CFIO TIeT LIREACH 7771 37 |

() Describe how a monopolist  will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

o1 forr oifder Rfgrerrer 291 Tee RromR)
OB TERE @A S A,
SICABT 347 |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under
oligopoly. 10

TN TERS INES AT EEeEnE
ORI Pl S Y (7Y@ |

* k&
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for the questions

1. Answer any ten from the following as

directed : 1x10=10
7o TaRd R e wRer et Ted st -

(a) Mention one assumption of Harrod-
Domar growth model.

@@’T-TIR e Wy 951 wfeyRe SE
0

(b) Name one neo-classical growth model.

A Rt =i ¢or A ford |
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(c)

(@)

(e)

(9)

(h)

()

22A/1120

(2)

What is meant by technological
progress?

efesare TafS e & T ?

Define average propensity to consume.

51 (T 2RO FES T |

Who introduced the life-cycle

hypothesis?
& -5 A (I T IR ?

Mention one assumption of permanent
income hypothesis.

1T Y S <51 SHfSHRe TCE 9|

Rational expectation model is related to
Robert Hall/Friedman.

( Choose the correct answer )
LR e W1 <MD 2/ BrecrT e

GO |
(% Teehl MR Sfere )

What is investment?

Rfercas /6 2

What is liquidity preference?

o[ Aif 2

( Continued )

0)

(k)

@

(m)

(n)

(0)

(3)

What is meant by fiscal policy?

AR A e fF 2

What is Ricardian equivalence?

faifx srer & 2

What is meant by active monetary
policy?

IR Pl qfew & BCIER:

Who are the classicists?

FFPERTE @ FF ?

Did Keynes believe in full employment
equilibrium?

ﬁwﬁj‘fmﬁWﬁWW?

Name one new Keynesian economist.

OEH 79 @ 0T SRR A o

Answer any five from the following

questions : 2x5=10
o 2P R e Sfebra T i :
(@) What is the golden rule?
e fo 2
( Turn Over )
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(b)

(c)

(@)

(e)

(9)

(h)

22A/1120

(4)

What is meant by endogenous growth?
e R 3 & 38 ?

Mention  two differences  between
Harrod-Domar model and Solow model.

CEW@ﬁWEﬁiW$B?’WﬁQWW1ﬁ
oqrefay Ty 41|

Why marginal propensity to consume
cannot be greater than one?

afes coel ZRqel R T @R X3
(R ?

What is random walk of consumption
expenditure?

coTel IR AR 4T 6 2

Mention two monetary policy targets.

rubickokciEcRal

Mention two  differences between
classical and Keynesian thoughts.

SEfe SIF (@0N SRR e ol A1
Teag 41

Mention two features of classical
macroeconomic thought.

eI FREAR SRERI o1 (PR Teay 91 |

( Continued )

(5)

3. Answer any four from the following

questions : 5x4=20

@ SPCARA R I SifReR Tes fi -

(a) What are the two effects of investment
according to Harrod-Domar model?

Explain.
's-w TR S SR R g @
% 7 0 40

(b) Explain Keynes’ psychological law of
consumption.

@R (SIS g I

(c) Explain the elements of endogenous

growth.
sEe [P SAREPTER T F

(d) What are the limitations of Harrod-
Domar model? Explain.

TSR WIS Saeryz fo &7 T
341 |

(e) Explain the concept of inventory
investment.
R RRIR RS {@eCo! 0 91

02A/1120 ( Turn Over )



4.

22A/1120

(6)

() Explain the time consistency problem of
monetary policy.

U1 ST ST FHICH! R0 F1 |

(g) Distinguish between external and
internal government debt.

AR AF @G HIFQ AR AER AL
Refg 11

(h) Explain the main features of new
classical macroeconomic thought.

T R AT SRYRN @ GAFEPER
00T |

Answer any four from the following

questions : 10x4=40

d R R @ e vt el fin

(a) Critically discuss the Solow model of
economic growth.

e gfaa o= SO FHCAB FEPA
ST 41 |

(b) Discuss Fisher’s theory of optimal inter-
temporal choice.

fve I STRSTIRE e St wEs
Sl

( Continued )

(7))

(c) Discuss the Keynesian consumption

function.
@R Co15 FECo! S0l 41 |

(d) Critically discuss the life-cycle
hypothesis.
Sg-5G SR SHICADA] HZIIE ST
911

(e) Is permanent income hypothesis an
improvement over life-cycle hypothesis?

Discuss.

FM W AEED G5 SEEAOLT SHO

G 2 A 941 |

() Discuss the determinants of business
fixed investment.

T &1 iR FdeeRR e 34 |

(g9 What are the motives of demand for
money according to Keynes? Discuss.

%P9 W A v e 2
HICETo 41 |

(h) Discuss the objectives of monetary
policy.
1 R TCRTR S 1|

22A/1120 ( Turn Over )



(8)

(i) Discuss the main features of Keynesian
thought.

(2P SRUER T (FHEPTR ST 41 |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

SHEAM STWOR U (RPN 39 7
SRR Jo SRR, ST 37 |

* kK
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1. Answer the following questions (any ten) :
1x10=10

o RS Ted forn (R et W) -

(@) What is a standard normal variate?

el ArgRe 759 & 2

72A/1121 ( Turn Over )



(2)

(b) When do we use F-test?

it F-o=3r] cofem <2 @12

() What is meant by scaling?

AR Jerca 6 a2

(d) When does specification error arise?

Re Reqe @b i U&7 A2

(e) If the error term is not distributed
normally with ¢ variance, what type of

problem may arise?

I = o1 e e e o2 forer
mm’mm«wwﬁs@a@?

() Why are there two regression lines?

wwqmﬁwnﬁ?

() What is adjusted R2?

sifEe R? 7

22A/1121 ( Continued )

(3)

(h) When does type-II error occur?

Bize-11 Fib (Ffou Ted =0 2

(i Why do we add a random term in a
linear regression model?

@Re e o1 Wbre Fo oM «or [T @
Bl

() What is meant by degrees of freedom?
FogoR Ta e & 3o ?

(k) If E{UU{) #0, which problem does arise
in a linear regression model

a1 GRF TR @91 Y, = +BX, + Uy T
E(U,U;) #0 =, (SR & o T8 = ?

(] What is the relation between correlation
and regression coefficients?

ST I AR ST WSS 9w (9 2

(m) What is critical region?

sy s 62
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(4)

(n) State the expression for normal
distribution.
[T IGA (TS TS 91 = 2

(o) What is the difference between error
sum of square and explanatory sum of
square?

o R @R e ARl [ QAT

e A1 feral |

2. Answer any five of the following questions :

2x5=10

wre figl 7 Goigen Aot 2R Ted forsi :

fa) Write two uses of Student’s
t distribution.
Student’s t o3 o1 IR forn 1

(b) Distinguish between type-1 error and
type-II error.
Siei] @o e ol oo e AL
ferar |

(c) Define coefficient of determination in a
two-variable linear regression model.

@Wﬁﬁzﬁﬂmqwﬁ@vfwww

(S)

fe) Distinguish between multicollinearity
and autocorrelation.

PRI AE FICTDTIEI TS A1 141 |
() Write two assumptions of F-test.
F-2Rr5e 7o SR o7 |
() What are errors in variables?
v @ < e 2

(h) Give two reasons for arising multi-
collinearity problem.

TR T T8I (AR o1 TR foeq |

Answer any four of the following questions :

5x4=20

wee & e iR opa Tl foid

(a) Explain diagrammatically the area
property of normal distribution.

SYREeT %51 K1 (IFRECOT oae 2 ST
4 |

(h) What are the properties of a good
estimator? Explain.

<51 TG SRR CAFERTIR 0 1 |

(c) Explain the assumptions regarding the
stochastic term of the linear regression

S del Y, BX, +U
mode ! =0 + t + t-
i ial ession coefficient?
i W@What WIS pamggc;;grﬁs ? Y, =a +BX, +U; afie SrEEd Wk @b
I i AT SSHRACIR 0 9 |
22A/1121 ( Turn Over )
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(6) (7))

(d) Explain the concept of -confidence 4. Answer any four of the following questions :

interval. B e
[P/ WA (R SS9 | wors figt 1 e BifGt e T o -

fe)} What is a dummy variable? What is Y (a) What is a normal distribution? What are
importance in statistical inference? its usefulness? Assume that family
2+3=5 incomes are normally distributed with
TR o5 e R TER? AR S L=1600 and ©=200. What is the
TR gy wgems 390 | - probability that a family picked up at
S random will have income (i) between

1500 and 1800, (i) below 1500 and
(iii) above 20007?
[(0<Z<1=0-3413),
(0<Z <0-5=0-1915] 2+2+6=10

() Distinguish between individual and
joint functional form of regression
model.

22A/1121

TR wEe e W W TN TGO
N fordl |

Explain how the omission of relevant

variable can create a problem in

regression analysis.

What are the methods of detecting
heteroscedasticity? Explain any two of

them.

fafioe Ofered ‘ez & 2 TR R
(TG o1 AT <4 |

( Continued )

MUY 759 50 TR TeER e R e
z'q AT W p=1600 WF o =200
T MeReed el ™ 1500 W
18004 fowqe @I, (i) 15009 ©°© I
g (iij) 20009 @9RC S R gl
Sfeean |

[(0<Z<1=0-3413),
(0<Z <0-5=0-1915]

n null hypothesis
thesis. When do we
ution? A random

(b) Distinguish betwee
and alternative hypo
use chi-square distrib

22A/1121
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(c)

(@)

20A/1121

(8)

sample of 5 students from a class was
taken. The marks scored by them are
80, 40, 50, 90 and 80. Are these sample
observations confirm that the class
average is 70? [Tabulated value of
t=2-78 corresponding to (n—1) d.f]

2+3+5=10

o0 SR S (3R ARTHAE e A1
{751 | Chi-3of Redd @oq TR T =2
9B AT 5 T TS I WAIEOSRd
2’9 | (odEed w4 I 80, 40, 50, 90,
HF 80 =, €2 SRWIIR ANRT @ 70 I+
SIS e 2

[(n—1) d.£3 FceTs® e T t =2. 78]

State and prove Gauss-Markov theorem
for B; in linear regression model
Y, =Bo +B, X +Us, where B, and B; are
parameters and U; is stochastic term.

Y, =Bo +B X; +U; HERET QYR [
S -AFS OG0l TS AR I 4 1 IS B,
e B, 215 2 S U, T o7 2 |

How to measure the standard errors of
regression estimator? Explain the
concepts of hypothesis testing and

forecasting. 2+4+4=

spEee MRS F @R @ =g
s AT A PR qRaER g
41 |

( Continued )

10

10

(9)

(e) In a three-variable linear regression
model Y; =Bo +B1 Xy +B2Xo; +Uy,
estimate the parameters B, By, Bs- 10

0 B 1 O O 1 O 2 T

Tferea LS SR @ToE
Y; =Bo +B Xy +BoXor +USE B, By, Bo
Ao = |

fHh A production manager is trying to
estimate-the contribution of labours and
machines to output. Consider the

regression model

Y =Bg +B1 X +B2X2 +U
Compute the least square estimates
including interrupt term from the
following observations :

Output (Y)  Labours (X;) Machines (X5)

40 46 24

42 60 15

37 54 12

50 50 50

36 42 19
Apply the least squar€ method to
estimate the parameters. 10
TR BT AT A WS Tl TAMFR
EQW@Wﬁ?ﬁqﬁﬁiﬁﬂﬁﬁﬁlﬂﬁWﬁ

( Turn Over )
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(10 )

fF Y =B +B;X; +Bo X, +UR  TIHNS
figey 5[ ARPROmER  GReM Y[ Al

(11)

() Explain how specification error may
arise if irrelevant variable is included in
a linear regression model. Explain the

Sfered
consequences of specification error.
& X
<o/ (Y) (X)) 73 (X3) 4+6=10
40 46 24
g ' " PR bered BRIl Rew Resq & @oma
> 3 i e T 7 G FoT ACIPTR ST 347 |
50 50 50
- 42 19 * %k k
ey 35 7afe T9zR IR A0ER Sferear |
(g9 What are the sources of auto-

correlation?
D test.

Describe Durbin-Watson

4+6=10 ]

T rgEd SOPIR & fF 7 SRiRA-gweTg

D [ 10 490

(h) Explain
collinearity.

- TTAd 2O ST 31 |

How can heteroscedasticity affect QLS
estimation? How would we correct for a

the consequences of multi-

10

heteroscedastic error term if the nature
of the heteroscedasticity is known?

5+5=10

sire (RO (P S8R/ (e 9 3
Rfved g We W (orR'E wue
@A QRE AR 2

22A/1121
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